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About the Cover;

Percent is a mathematical concept that has been used since the

end of the fifteenth century in business problems such as computing
interest, profits and losses, aiid taxes. However, the Idea had Its origin
much earlier. When the Roman emperor, Caesar Augustus, levied a tax
on all goods sold at auction, centesima return venallum, the rate was
1/100 of the value. Other Roman taxes were 1120 on the value ofevery
freed slave and 1/25 on the price of everyslave sold. Without recognizing
percentages as such, the Romans used fractions easily converted to
hundredths.

Just as in Roman times, many of the taxes we pay today are
based on percents. Sales taxes are based on a percent of the sales price
of Items we buy. We pay a percent of our Incomes as income tax.
Property taxes are based on a percent of a property’s value.
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Percent Hunt

‘Th
Pe/cents are used in many places. They’re used in newspaper ads, food and
medicine labels, weather reports, and on tax forms. Sometimes a percent is writtenusing the word “percent,” and sometimes it is written using “%,“ the symbol for
percent. This symbol is called the percent sign.

110% PriCe
Guarantee -

Bu
jrpUt
sec
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game teleCaS were a hit V .. the

vieWers The first game (SraCU5
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Percent Means Hundredths

A fraction with a denominator of 100 is easy to write as a percent. Just write down
the numerator of the fraction and follow it with a percent sign. The percent sign
means hundredths. (It even looks like a “1 ‘ and two “O”s.)

= 25% “25 hundredths = 25 percent”

What part of each large square is shaded? Give each answer as a fraction with
denominator 100 and also as a number with a percent sign.

tt.t±. Fraction:

_

Izi

)

I
i:

Fraction:

Percent:IO %

Fraction:

Percent:

Fraction:

Percent:

Fractio ri:

Percent:

Fraction:

Percent:

Fraction:

Percent:

JillIii:

Fraction:

Percent:

Fraction.:

Percent:

Fraction:

Percent:

Fraction:

Percent:

U Fraction:

Percent: Percent:

2 ©988 by (ey Curricuhsm Project, Inc.
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What part of each group is circled? Give each answer as a fraction with
jnominator 100 and as a number with a percent sign.

99

Zrite each answer in two ways.
Munch bought a box of Fritz crackers.
Just before lunch he ate 85 of the 100
crackers in the box. What percent of the
crackers did Munch eat?

Fraction: Percent:

Anton’s teacher gave her class 100
minutes for a math test. Anton took 95
minutes to complete the test. What
percent of the time did Anton use?

Fraction: Percent:

—a

**********

Aran took a math test that had 100
problems. He got 100 problems correct.
What percent of the problems did Aran get
Correct?

Fraction: Percent:

Monica is a quality inspector for a
supermarket. She checked a sample of
100 oranges for spoilage. None were
spoiled. What percent were spoiled?

Percent:Fraction:

Fraction:

Percent:

Fraction:

Percent:

Fraction:

Percent:

Fraction:

Percent:

iaa by Key Curriculum Pioject. Inc.
Do not duplicate without permission.
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The word percent comes from the Latin word “centum which means one hundred.
So does the word “cent.” A cent is one hundredth of a dollar. Percent means
“out of every 100” or “compared to 100” or “per hundred.”

(‘ 50 out of every 100

50% means 4 5Ocomparedtoloo

L 5operhundred.

Complete each sentence. Use “out of every 100” or “compared to 100” or
“per hundred” and a fraction with 100 as denominator.

12% means: 12 Ou+ of ever’ 100

1% means:

J.

12
or 100

or

18% means: or

6% means:

50% means:

98% means

or

or

or

100% means: or
0

Write each percent in three ways.

As a fraction with
denominator 100

As a number with
a percent signUsing words

36
36 out of every 100 30fo

48
100

3%

7
100

99 compared to 100

100%

4 ©988 by <ey Crr’ctrr Pro ct, rc.
Do not dLpcate w:,out perrssort.



Each large square below is divided into

_______

small equal squares.

Shade 25%. Shade 50%. Shacie 75%. Shade 100%.

_____

_____

ri
__

Shade 1%. Shade 10%. Shade 11%. Shade 99%.

_

_

ri
Each group of stars below has — stars.

Circle 15%. Circle 60%. Circle 95%.
4444 4444444444 44444444444444

444 4444444 444444444444 44444444444.44
-_r.4444444#44#44#44# 4444.4444 444444.4444444444.
4444444444 44444444444444 #444 444444444444444

4444#4#4F44 #44444444444444444 4444444

Each rectangle below is divided into equal parts.

Shade 33%. Shade 90%. Shade 0%.

•‘ff’4F4 i....4
1.— •:_.i_ti I + i

+ I : ÷rti ....4 +..{ •..j. +...... 4 ..+

is not shaded. is not shaded. is not shaded.

Answer each question using a complete sentence.

90% of the songs played on Station KRAZ Sui bought a sheet of 100 postageare rock and roll. Yesterday afternoon the stamps. She used 82% of them to mailDJ played 100 songs. How many were greeting cards. How many stamps didrock and roll? she have left?

( son,s were rock ond roll
1988 by Key Cuniculum Project, inc.
00 not dupLcate without permission.
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All and None as Percents

Shade all of the square.

What percent of the
square isshaded?

_____%

All of something is

_______%

of it.

Shade none of the square.

What percent of the
square is shaded? %

None of something is

______%

of ft.

.... .,,,,.....

.... . S

:

j.....
. -. . - 1=

____%

0=

____%

Circle all of the stars. Shade 100%. Circle 100% of the dots.

* ** * *** ***

Circle none of the stars.

•• •
.. .•.

I. • •
• ••l. ••• •. •..

. . 0 • •
0. •

•
•

•.
•. . . •. . .

I. • • I
• • •

• •0 •. . • I • •l

I • I
• 0

01.: •••I • I I
• I • • • I

Answer each question using a complete sentence.

On the day of the Mr. Mean’s class picnic,
everyone came to school. What percent
of the class was present?

____

% of +he class was present.

On the next day Mr. Mean gave a math
test. No one showed up. What percent of
the class was present?

4)

L1...1.,.[J..i

Shade 0%.

4ILILHJHJ
!-L4..

L_LJ;

T I

I .0.
• ••I.

• •.••..I. II.• III..

.1.1
•••

I I • • •
•III • I •

•. . • I I
• • • I

• • I
0 •

• I
1.1. .1..

. •

Circle 0% of the dots.

6 by (ey CuuIcuhm Prcect. Inc.
Do not dupPcate wthout permIs&on.



You can use 100% and 0% even when you can’t divide something into hundredths.fjo of any number is zero (none of it). 100% of any number is the number (all of it).

H1
Shade 0%.

HH A
Circle 0%.

4444
4444
4444
4444

Circle 100%. Circle 0%.

.• •

•. •
• 0

. .
I

I. • 0

0%of8is 0
100%of8is a

0% of 25 is

____

100% of 25 is

____

0% of 99 is

____

100%of99 is

____

_____

is 100% of 12.

D.
Ots

____%of

16.

0% of 32 is

____

84is

____%of84.

is 0% of 64.

____%

of 1320 is 1320.
35 is 100% of

____

0 is 100% of

____

0 is 0% of____

Use 0% and 100% with amounts of money just as you did with numbers.

0%of$5Ois $0 100%of $18.50 is

____

100% of $1 00 is

____

____

is 0% of $5. 100% of $1 is

____

_____

is 100% of 250.

Answer each question using a complete sentence.
Bill had 30 minutes to complete his math The Stingy Pay Plant workers earn $6.50test. He used 100% of his time. How long per hour. The owner offered them a 0%did he spend on his test? raise. How much per hour was the raise?C fe spen+ mnu+es on his +esi.

Shade 100%.
Shade 100%.

1988 by Key Cunlculum Project. Inc.not duplIcate wIthout permlaslon.
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One Half and One Fourth as Percents

Shade one half of the square.

What percent of the
square is shaded?

_____%

One half of something is

______%

of it.

Put hair on half the heads.

Put ears on 50% of the heads.

30 30
L L

33
L

33
L

Circle 50% of the dollar. Put X’s in 50% of the squares.

Shade 50% of the squares.

-Th*

How many flowers?

____

Circle 50%.

How many circled?

____

of is

___

50%of

____

is

____

9999
9999
9999
9999
9992
9999

How many bulbs?

____

Circle 50%.

How many circled?

____

2

50%of

____

is

____

:
1

%

/1
A

Shade 50% of the shapes. Circle halt of the stars. Shade about 50% of the circle.

**

*

How many squares? 12 How many squares?

Shade 50%. Shade 50%.

How many shaded? 6 How many shaded?

50% of 12 is 6 . 50% of is

4

8
1988by (ey CrrcuIum Project, iflC
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Shade one fourth of the square.
hat percent of the

iquare is shaded?

______%

One fourth of something is

______%

of it.

Put hair on 25% of the heads.
Put ears on 100% of the heads.

L I

00
L

I, LI

I U

Circle 25% of the stars.

****
***
**

Shade about 25% of the circle.

iaa by Xey Curriculum ProJe, Inc.)o not duplicate wftIout permission.

t”
•1••.
—--.

1
%

25%of____ is 25%of is

How many squares? 12 How many squares?Shade 25%. Shade 25%.How many shaded? How many shaded?

, How many stars? How many circles?Circle 25%.
Shade 25%.

, ,

How many circled?
Q 00 How many shaded?

* of is
. 0 of is___* k 25% of_____ is 0 25% of_____ is

Try these without pictures to help.

- of 28 is l 50% of 28 is Pt. of 28 is 25% of 28 is____

of 36 is
. % of 36 is 18. of 36 is of 36 is 9.

9



Use division to solve each problem below.
‘10÷2

50% of 40 is

_____.

50% of $44 is

_____

25% of 40 is

_____

25% of $44 is

_____

6 is 50% of____

6is

____%ofl2.____

is 50% of 12.

____

is 25% of 48.

l2is

____%of48.

12 is 25% of

____ _____

is 25% of $20.

$5is

____%of

$20.

$5 is 25% of____

9is

____%of

18.

____

is 50%of 30.

2is

____%of8. ____

is 25%of 36.

$1 is

_____%

of $2.

_____

is 25% of $64.

Be careful on the ones below! They’re trickier.

$1.50 is

_____%

of $3.

______

is 25% of $8.00.

$14.25 is 50% of .

______

is 25% of $5.00.

3 is 50% of____

10 is 50% of

____

$7 is 25% of____

$3.50 is 25% of______

is 25% of $42.00.

Since 50% = and 25%
= ,

there is an easy way to find 50% and 25% of a number.

To find 50% of a number, simply divide by 2.
To find 25% of a number, simply divide by 4.

Use division to fill in the chart below

100% II 32 80 I 200 24 $12.40

50% 16 I___

25% 8

$104

50% of $9.00 is

_______

25% of $9.00 is

______

10 ©1988 by Key Cwriculum Pr0j4. Inc.
00 not duplicate without permission.



100% Makes It All

:‘

I1I in each missing percent. Remember, all of something is

_____%

of it.

A pie chart is one useful way to show information. A pie chart is made with a circledivided into slices of “pie.” The complete circle is 100%.
Fill in the missing percent In each pie chart below. Then use the pie chart to helpanswer the question.

Students at Cabot High School Favorite Pet of 7th Graders

What percent
of the students
at Cabot High
are girls?

Cat

No pet ,4::::::::%\

Bird

18%

What percent
of the seventh
graders chose
no pet?

Motor Vehicles at the Stadium Lot

tation

‘agons

Math Test Results

Trucks and cars
make up what
percent of the
vehicles?

Motorcycles

What percent of
the students got
higher than a
D on the test?

988 by Key CurctUr Pcecl, nc.rot dupcate without permissrn.
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Arm

What percent of the regular price do you
pay?

______

rain?

______

Would you take an umbrella if you went out?

Marie got 8% of the problems on her math test wrong and she left 6% more undone.
What percent did she get correct?

______

The diagram shows how body weight is
divided between the body parts in the
average adult in the U.S. Each arm is
about the same
weight. What
percent of a
body’s weight
is in each
arm?

Head
7%

Musde

43%

Leg
17%

Leg
17% The pie chart shows what the average

adult in the U.S. is made of. The weight of
fat is about equal to the weight of bones.
Study the chart and finish it.

Biq Sa(e!
20% off

What percent of the regular
price is taken off?

______

O 10% Real
liFrult Juice

What percent of the drink is
fruit juice?

_______

What percent is not juice?

_______

What is it?

35 What percent of the fabric 100% What percent of the food is
COrrONJ is cotton? LNatural natural?

What percent is not cotton? What percent is not natural?

A weather forecaster says there is a 20% chance of rain. What is the chance that it will not

12 by Xay urrIcuum Proje. nc.
Do nol dupdcate wfthoul permission.



Floor Plans

Ramona Rodriguez is an architect. She has
designed 100 square meters of new office
space for a high school. Look at her plan.
Use it to answer each question below.
The mail room is

______%

of the area.
The principal’s office takes up

_______%

of the space.
The secretarial area occupies

_______%

of the space.

_______%

of the office is taken up by the waiting area.

Now it’s your turn to be the architect. You have
been hired by a school to design a new art studio.
The studio will be 100 square meters. Draw walls
and label the areas using the guidelines below.
6% of the area is the teacher’s office.
% is a storage room.

I
1 % is a ceramics area.
9% is a kiln room.
The rest is the classroom.
What percent is classroom?

______%

22% of the area is living room.
Two bedrooms each occupy 15%.
20% is kitchen.
6% is bathroom.
12% is porch.
The rest is halt and storage area.

!hat percent is hail and storage?

rrin

OfF

You did so well designing the school building that you’ve
been hired by the principal to plan a new summer cottage
for his family. The cottage will be 100 square meters
(including the porch). Make a floor plan for the cottage.

:: : :
H—

:‘: ::‘i ;:
1ai: 4r a.
— — --- — — — —

— L._ —

—

I — - —

:

r
(5

ce we’ in ‘4 a
‘ ———

— —

-+------

:L::zz:
:::::x:::

— — —

— I — — — —

........ ..

—.. ...—...—... —..—...—.

——

- — — — -
.-..

.. .. .———, — , 4

— — — — —
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Recommended Daily Allowances (RDA) of Vitamins

This label is from a box of breakfast cereal. It tells
about the amounts of vitamins and minerals in a one
ounce serving of cereal. The amounts are given as
percentages of the Recommended Daily Allowance
(RDA) of each vitamin and mineral.

The left column gives the percentages in one ounce of
cereal alone. The right column gives the percentages
in one ounce of cereal with one half cup of milk.

Use the information to complete the tables below.

1 ounce Cereal
Nutrient serving with half

of cereal cup milk

Protein 10%
Vitamin A

Niacin

1 ounce Cereal
Nutrient serving with half

of cereal cup milk

Vitamin D

Zinc

Copper

What percent of the RDA of copper do you get in - cup of milk alone?

_______

What percent of the RDA of protein do you still need after you’ve eaten one servingof cereal alone?

What percent of the RDA of vitamin A do you still need after you’ve eaten oneserving of cereal with milk?

________

How many servings of cereal wou!d you need to eat to get 100% of the RDA of
niacin?

________

Nuhiffon Information Per Serving

Serving Size: 1 Oz.
(About l/4 Cup) (28.359)
SeMflgs Per Package: 24

With
(1 i8mL)

102. VilorninD
(28359) Forllfed

Cereal WboteMi&

Calories 110 180
Protein 3g 7g
Carbohyditite 23 g 29
Fat 0 4g
Sodium 190mg 250mg

-Th

Percentages of U.S. Recommended
Doily Allowances (tLS RDA)

Protein 4% 10%
Vitamin A 25% 30%
Vitamin C
Thiamine 25% 30%
Riboflavin 25% 35%
Niacin 25% 25%
Calcium 15%
Iron 15% 15%
Wamin 0 10% 25%
Vitamin B6 25% 30%
Folic acid 25% 25%
Vitamin B12 25% 30%
Phosphorus 6% 15%
Magnesium 6% 10%
Zinc 8% 10%
Copper 6% 6%

save 30 calones-use skim milk.
Contoins less than 2% of the U.S. RCof

these nutrients.

What percent of the RDA of protein do you get in - cup of milk alone?

_______

What percent of the RDA of vitamin D do you get in - cup of milk alone?

©1988 by Key Currcjlum Proec, irc.
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Double and Triple as Percents

Shade 100% of a square.

Shade another 100% of a square. :1444:$:I 4.E.:
All together you shaded % ZZ1ofasquare

_______ _______ _______ _______

All together you shaded

___

squares.
Two of something is

______%

of it. 2 =

______%

Shade 100% of a square.

Shade a second 100% of a square.
Shade a third 100% of a square 11 11
All together you shaded

_______%

I I 1of a square

______ ______

J

______

AII together you shaded

___

squares.
Three of something is

______%

of it. 3 =

______%

Shade 200% Shade 300% Shade 400%of a triangle, of a circle, of a square.

AAAA 0000

_H_H__

100%of6is

____.

100%ofl5is

____

is200%of8.200% of 6 is

_____.

200% of 15 is .

_____

is 300% of 8.300%of6 is 300% of 15 is

____.

____

1s400% of 8.
32 is

_____%

of 16. 50 is

____%

of 25. 27 is

_____%

of 9.
©1 988 by Xey Currtcuium Proed, Inc.Do not dupitcate without permIssion.
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Below is a graph of the average annual precipitation (rain and melted snow) for 10
cities in North America. The actual precipitation is given at the end of each bar in the -

graph.

______

(18)

(20)

36)

Phoenix, AZ

Albuquerque, NM

Los Angeles, CA

San Francisco, CA

Minneapolis, MN

Toronto, ON

Philadelphia, PA

Boston, MA

Charleston, NC

Halifax, NS

Annual Precipitation

(50)!

•j 0)

(80)

(101

(108)

(132)

140 150
10 20 30 40 50 60 70 80 90 100 110 120 130

Precipitation (centimeters)

Which city has 200% of the precipitation of Phoenix?

Which city has 300% of the precipitation of Los Angeles?

Which city has 400% of the precipitation of Albuquerque?

Which city has 600% of the precipitation of Phoenix?

Which city has 250% of the precipitation of Albuquerque?

Which city has about 300% of the precipitation of San Francisco?

Which city has about 400% of the precipitation of Los Angeles? —

Which city has about 500% of the precipitation of Albuquerque? -

Which city has about 250% of the precipitation of Minneapolis? —

Which city has about 750% of the precipitation of Albuquerque? -

L149)0

)
@1988 by Key Cuntculum Project Inc
Do not duplicate without perrniselon.



Practice with Percents

Draw hats on 50% of the heads.

Put smiles on 100% of the heads.

Give 25% of the heads ears.

Paint 0% of the heads blue.

Shade 25% of all the rectangles.
ii ii iiPut an X inside 50%.
ii ii iiMake a ring around 100%.
ii ii ii

Show how much each person earns per hour.

Sally earns $6.00 per hour. Sally: [$J [ i f $ 600
Ted earns 200% of Sally’s pay. Ted:

$______

Ora earns 300% of Sally’s pay. Ora:
$______

Alisa earns 50% of Sally’s pay. Alisa:
$______

Joan earns 200% of Ted’s pay. Joan:
$______

How full should each cup be? Shade the cups to show your answer.

Cup A is 25% full.

Cup B has 200% as much as cup A.
Cup C has 50% as much as cup B.

Cup D has 300% as much as cup A. A B C D

©988 by Key Curriculum Projea, Inc.Do not duplicate without p.rmlseicn.



What percent of the things in each group are circled? What percent are not circled?

What percent of each square is shaded?

___%

is shaded.

___%

is shaded.

___%

is shaded.

___%

is shaded.

Answer each question using a complete percent statement.

988 by Key Currcuri Prnect, -c.
Do lot .p1cate wW’ott perrrsion.

E1
1j

-...-(e.•. .‘I • • . . .1
I. . • *1

• •. .1
I:’ ::‘•.:•J

. • • .1
• •. •.J

circled

____%

not circled

0

________

,0

circled
0

________

,0

not circled

14I

____%

circled

____%

not circled

circled

____%

not circled

L1

CI

_________

/0

circled

0I

________

/0

not circled

0I

________

/0

circled

not circled

___%

is shaded.

Problem: What is 50% of $24? Problem: What is 100% of $17?
Statement: l is 50% of Statement:

Problem: What is 200% of $12? Problem: What is 50% of $5?
Statement: Statement:

Problem: What is 25% of $12? Problem: What is 50% of $250?
Statement:

Statement:

Problem: What is 200% of $6.75? Problem: What is 25% of $5?
Statement: Statement:

j
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Draw each tine segment.

)
50%aslongasAB

25%as long asAB

_
_
_
_
_

25% as long as CD

100%aslongas

100%aslongasP

2OO%aslongasF

I

5O%aslongasFi

200% as long as GH

11
200% as long as IJ

300% as long as IJ

Rt

_

_

_

_

_

_

50% as long as

100% as long as KL

150%aslongasKL

0%aslongasKL

M
N

_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_

25% as long as MN

50% as long as MN

75% as long as MN

100%aslongasMEi

e1968 by Ky Cunfum Projeci. Inc.Do nc duplIcate without permission.



0% of 60 is

____

25%of6Ois____

50% of 60 is

____

100% of 60 is

____

25% of 44 is

____

50% of 44 is

____

75% of 44 is

____

100% of 44 is

____

0% of $21 is

____

100% of $21 is

_____

200% of $21 is

_____

300% of $21 is

____

100% of 36492 is_

50% of 222222 is —

0% of 1123456789 is

100% of $6.35 is

of $25

50% of $25 is *12.50

50%of$l9is —.

25% of $30 is ‘7—

0% of 43621 is_

100% of 9312 is_

300% of 11111 is

0% of $1835.25 is

__________

is 50% of $21.

is 50% of $7.

is 25% of $50.

t

is 0% of 320.

is 25% of 320.

is 50% of 320.

is 100% of 320.

is 25% of 140.

is 50% of 140.

is 75% of 140.

is 100% of 140.

is 0% of $85.

is 100% of $85.

is 200% of $85.

is 300% of $85.

300% of $5 is

_________

_______

is 0% of $200.

300% àf $27 is

_______

_______

is 50% of $220.

20 @1988 by Key CurricuJum Proec, Inc.
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One Tenth as a Percent

•n— — •q

__4_ . J.- -

1-0= /0

To find 10% of a number, simply divide by 10.

. of 900 is . 10% of 900 is of 40 is 10% of 40 is

iividing by 10 is easy when the number you’re dividing ends in zero. You don’t needpencil and paper. Simply drop the last zero.

/N /N

10%ofl0is I

10% of 20 is

____

10% of 30 is

____

10% of 40 is

10% of 60 is

____

10% of 120 is._____

10% of 180 is

____

10% of 240 is

____

10% of $750 is

____

10% of $1 500 is

____

10% of $2250 is

_____

10% of $3000 is

____

_____

is 10% of 80.

is 10% of

____

©19BB by Key Cuniculum Project. Inc.
Do not duplicate without permIssion.

is 10% of 390.

48 is 10% of

____

is 10% of 4560.

125 is 10% of

____

21

ohade ten small squares.

What percent of the
large square is shaded?

______%

You shaded or of the large square.

One tenth of something is

______%

of it.

of 50 is

50 + 10

___

10% of 50 is •:i’o of 20 is

100% is

10% is

____

/N

100% is

10%is

____

100% is

10%is

____

/N

100% is

____

10%is

____



Each pie chart has been divided into equal parts. What percent is shaded? What
percent is not shaded?

____%

shaded

____%

not shaded ®%

shaded

___%

not shaded

____%

shaded

___%

not shaded

,Th

____%

shaded

0/

________

I0

not shaded

shaded

____%

not shaded

____%

shaded

___%

not shaded

If you know 10%

10% of 90 is q

___

20% of 90 is 18 .
13

30% of 90 is

_____

rn
40%of90is

____

50% of 90 is

____

60% of 90 is

____

70% of 90 is

____

80% of 90 is

____

90% of 90 is

____

100% of 90 is

____

110% of 90 is

_____

120% of 90 is

____
_____

is 1 0% of $50.

_____

is 20% of $50.

_____

is 30% of $50.

Th

of a number, you can easily find 20%, 30%, or 40% of the number.

___

10%of 300 is

-

____

20% of 300 is

_____

30% of 300 is•____

40% of 300 is

_____

50% of 300 is

____

60% of 300 is

______

70% of 300 is

____

80% of 300 is

____

90% of 300 is

_____

____

100% of 300 is

____

____

110% of 300 is

____

____

120% of 300 is

____
____

10% of 400 is

____

_____

20% of 400 is

_____

_____

30% of 400 is

_____

1988 by Key Curriculum Project, nc
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10% of 240

20% of 240

30% of 240

is

is

is
22



One Hundredth as a Percent

Shade one small square.

What percent of the
large square is shaded?

______%

You shaded
100 of the large square.

To find 1% of a number, simply divide by lao. 1

-- of 700 is . 1 % of 700 is of 900 is . 1 % of 900 is

“ividing by 100 is easy when the number you’re dividing ends in two zeros. Simplydrop the last two zeros.

/°°N /N /N /N100% is

_____.

100% is

_____.

100% is

_____.

100% is

_____

1%is

_
_
_
_

1%is

_
_
_
_
.

1%is

____.

1%is

_
_
_
_

1% of 100 is

_
_
_
_

1% of 200 is

_
_
_
_

1% of 300 is

_
_
_
_

1% of 400 is

_
_
_

____

is 1% of 900.

is 1% of____
198B by Key CurrIcuum ProJe. Inc.Do not dup’Cate without permission.

1%.of 400 is

1% of 800 is

I % of 1200 is

1 % of 1600 is

is 1%of 3900.

48 is 1% of____

1% of $2300 is

_
_
_
_

1% of $4600 is

_
_
_
_

1%of$6900is.

1% of $9200 is

_
_
_
_

is 1%of 9900.

125 is 1% of____

T
•.-...+

...+ ..4 i..+

*+±-FHfizirr
One hundredth of something is

______%

of it. 1
0

100= /0

of 300 is 1%of300is___
500—100

of 500 is

____.

1 % of 500 is

___

23



6% of 600 is

______

is 1% of 900.

_______

is 2% of 900.

____

is 3% of 900.

______

is 4% of 900.

______

is 5% of 900.

_______

is 6% of 900.

______

is 7% of 900.

_______

is 8% of 900.

_______

is 9% of 900.

is 10% of 900.

1% 2 5

2% Lj.

4% 100

8%

16%

1% of $7500 is

______

2% of $7500 is

_______

3% of $7500 is

_______

4% of $7500 is

_______

5% of $7500 is

______

6% of $7500 is

_______

7%of $7500 is

______

8%of $7500 is

______

9% of $7500 is

_______

10% of $7500 is

______

can help you get the

1% 3

5%

10% 70

50%

lf you know 1% of a number, you can easily find 2%, 3%, or 4% of the number.

1% of 600 is 6 . 1% of 1200 is

_______

2% of 600 is

_______

2% of 1200 is

_______

3% of 600 is

_______

3% of 1200 is

_______

4% of 600 is

_______.

4% of 1200 is

_______

5% of 600 is

_______.

5% of 1200 is

_______

6% of 1200 is

1% of 1500 is

______

______

2% of 1500 is______

____

3% of 1500 is

______

______

4% of 1500 is

______

______

5% of 1500 is

______

______

6% of 1500 is

______

______

7% of 1500 is

______

______

8% of 1500 is

______

______

9% of 1500 is

______

______

10% of 1500 is

______

Each group of problems has a pattern. Finding.the pattern
answer quickly.

100% II 200 100% 600 i00%Il 1100

1% 8

3%

9%

27%

81% 162
4)

24 p1988 by Key Curriculum Project, Inc.
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100%of200is

____

10% of 200 is

____

1% of 200 is

____

_____

is 10% of 60.

____

is 1% of 600.

41s %of4.

4is

____%

of 40.

41s

____%of400.

Make up some problem sets
1%of

____

is

____

10%of____ is

____

100% of

____

is

____

C1988 by l(ey Curriculum Project, Inc.Do not duplicate without permission.

100% of 1300 is

____

10% of 1300 is

____

1% of 1300 is

____

_____

is 10%of 190.

____

is 1% of 1900.

2is

____%of200.

21s

____%of2.

2is

____%of2O.

of your own.

1%of

___

is

_____

10%of

____

is

____

100%of

____

is

____

/N

1 00% is

_____

10% is

____

1%is

_____

100% is

____

10% is 500.

1%is

____

Practice with 1% and 10%

100% is

____

10% is

____

1%is

____

/N

100% is

____

10% is

____

1%is

_____

/N

100% is

____

10% is

_
_
_
_

1%is

_
_
_
_

100% is

_
_
_
_

____%is9O.

1%is

_
_
_
_

_____%

is 500.

10% is

_
_
_
_

1%is

_
_
_
_

100% is 4100.

____%

is 410.

—_%is4l.

100% of $5400 is

____

10% of $5400 is

_____

1% of $5400 is

_
_
_
_

_____

is 10% of $730.

_____

is 1% of $7300.

$50 is

_____%

of $5000.

$50 is

____%of

$500.

$50 is

____%of

$50.

1%
of

_
_
_
_

is

_
_
_
_

10%of

_
_
_
_

is

_
_
_
_

100%of

_
_
_
_

is

_
_
_
_
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=1
1000 = $1.00 One hundred cents equals one dollar.

10%of$1.00=$.10 1%of$1.00=$.01

Finding 10% or 1 % of dollar amounts can be confusing when the amount is
expressed as a decimal. It helps to think of the amount as all cents.

True or false?

10%of$.901s$.09..
- 10%of$3.O0is$.O3

--- 10%of$.5Ois$.05
[Tru False True False True False

10% of $1.50 is $1.05 10% of $2.00 is $.20 10% of $14.50 is $1.45
True False True False True False

10% of $.70 is $7.00 10% of $16.00 is $1.60 10% of $29 is $29
True False True False True False

Remember, in order to properly show cents with a decimal point, the decimal must
show hundredths.

+ow hd+hs.

10% of $1.60 is $.160 10% of $4.70 is $.047 10% of $300 is $30
True (fjsj) True False True False

1%of$600is$6 1%of$7.OOis$.07 1%of$8001s$8
True False True False True False

1% of $300.00 is $30.00 1% of $12 is $.12 1% of $53 is $5.30
True False True False True False

2 6 c1988 by (ey Curilcutum Proje, Inc.
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The population of Rodeo City is 6,000,000. City planners expect it to grow by 1 %
each year for the next three years. Complete the chart to show how the population
will grow. The population at the end of each year is the population at the beginning
of the next year.

Year 1 Year 2 Year 3

Population (Beginning of year) 6000000 6060000

1% Increase 60000

Population (End of year) 6060000

Choose a word from the box to make each sentence true.

A cent is worth 10% of a dime

A year is 10% of a

A millimeter is 10% of a

A decade is 10% of a

A dime is 10% of a

Make three different true sentences using words from the box.

A

____________

isl%ofa

A

____________

isl%ofa

A isl%ofa

Fill in each blank.

10%of 1 minute is

10% of 2 minutes is

10% of 3 minutes is

10%of 1 houris

10%of2 hours is

10%of3 hours is

seconds.

seconds.

seconds.

minutes.

minutes.

minutes.

i24hourc1

10% of 1 day is

_______

minutes.
@1988 by Key Cwnculum Proje, nc
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month year
nickel decade

centimeter
meter penny
century dollar

penny century
centimeter dollar
meter year
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Percents

Shade 150% of a large square.

Shade 135% of a large square.

Shade 250% of a large square.

Shade 50% of a large square.

Shade

Shade

100% of a large

[4... H

;...t

10% of a large

square.

square.

Shade 0% of a large square.

Shade 299% of a large square.

Shade 300% of a large square. Shade 1% of a large square.

988 by Key CurrcuIum Project, Incnot dupllcal without permission.
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Work your way down each column. Can you find the pattern?

1
Shade
64%.

Shade
16%.

Shade
4%.

Shade
1%.

Shade

Shade
16%.

Shade
8%.

Shade
4%.

Shade
2%.

Shade

1%.

Shade

Shade
81%.

Shade
27%.

Shade
9%.

Shade
3%.

Shade

1%.

Shade

30 1988 by Key Crr.cuum Project, no.
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Jz1

____%ofadollar ____%ofadollar
_____%

of $1.00’ % of $1.00

____

1 OOC = $1.00 One hundred cents equals one dollar.

Use percent notation or a dollar amount to
$.501s

______

ofadollar.

$.75 is

_______

of a dollar.

_______

is 28% of $1.00.

_______

is 46% of $1.00.

$2.50 is

_______

of $1.00.

$1.00 is

_______

of $2.00.

$.20 is

_______

of $2.00.

A dime is

_______

of a dollar.

A nickel plus a dime plus a quarter is

Make up your own!

make each statement true.

$.25 is

________

of a dollar.

________

is 98% of a dollar.

$1.60 is

________

of $1.00.

________

is 100% of $1.00.

$9.38 is

_______

of $1.00.

$.50 is

________

of $2.00.

$.02 is

_______

of $2.00.

Three quarters is

_________

of a dollar.

of a dollar.

is of one dollar.

is of two dollars.©1998 by I<ey Curdculum Proec, nc.
Do not dLp1cate withott permsson.
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I I I I I I I I I I I I I I I
2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

i me+er
I

v i I I I I I I
32 33 34 35 .36 37 38 38

100 cm = 1 m One hundred centimeters equals one meter.

Use percent notation or a metric length to make each statement true.

50% of a meter is 50 cm. 85% of a meter is

______

cm.

25% of a meter is

______

cm. 136% of a meter is

______

cm.

2% of a meter is

______

cm. 450% of a meter is

______

cm.

5 cm is

________

of a meter. 30 cm is

________

of a meter.

100 cm is

________

of a meter. 300 cm is

_______

of a meter.

_______

is 62% of a meter.

_______

is 198% of a meter.

Answer each question using a complete sentence.

Carlos can stretch his rubber band Norma grows beans. Her tallest
83 cm without breaking it. What plant is 98 centimeters tall. This
percent of a meter can Carlos plant is what percent of a meter?
stretch his rubber band?

[m1

I-_I

—a)
a)

—

r-.
—0,

—a)

—C,

—.a,

—g

—a)

0)

—

0)

—

—

—

—

—

—Cr)

_C%J

—

7//1(’

—

a)—

(31

31

(31

3i

CM

(.5%
a)—

(5%
—4—

11
00—

a)—

Alice is a champion high jumper.
She can clear 238 cm. What
percent of a meter can Alice jump?

32

In a track meet Jose entered the
hop, skip and jump event. He
hopped 102 cm, skipped 84 cm and
jumped 112 cm. His total distance
was what percent of a meter?

‘(((Q4 If.
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Finding a Percent of a Number

•4atch.

0% 1% 10% 25% 50% 100% 200% 300%
. . . . . .

. . . . .
one none one all one triple one doubletenth hundredth fourth half

divide by 4

multiply by 2

write the number

divide by 100

divide by 10

multiply by 3

divide by 2

Choose the correct ending for each sentence from the box on the right.
To find 0% of a number you Wri+e zero

To find 1% of a number you

find 10% of a number you

To find 25% of a number you

To find 50% of a number you

To find 100% of a number you

____________________

To find 200% of a number you

_______________________

To find 300% of a number you

_______________________

Make each statement true.

25% of 400 is ‘+00 divided by ‘+
. 0% of 400 is

_____

10% of 400 is

_____

divided by

_____.

1 % of 400 is

_____

100% of 400 is

____.

300% of 400 is

____

50%of 400 is

____ __________ ____

200% of 400 is

divided by

_____

times

_____

@988 by Key Curilculum Proje. Inc.
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25%of16is_

50% of 16 is

______

75% of 16 is

______

100% of 16 is

______

125% of 16 is

______

25% of $80 is

______

50% of $80 is

______

75% of $80 is

_______

100% of $80 is

______

125% of $80 is

______
_______

is 25% of 400.

______

is 50% of 400.

_______

is 75% of 400.

_______

is 100% of 400.

_______

is 125% of 400.

0% of 60 is

_______

0% of 120 is

_______

Start 10% of 60 IS

_________

10% of 120 is

_________

her2.
25% of 60 is

_______.

25% of 120 is

_______

50% of 60 is

_______.

50% of 120 is

_______

100% of 60 is

_______.

100% of 120 is

_______.

200% of 60 is

_______.

200% of 120 is

_______

300% of 60 is

_______

300% of 120 is

_______

1% of $200 is

______

10% of $200 is

______

25% of $200 is

________

50% of $200 is

________

100% of $200 is

________

200% of $200 is

_______

300% of $00 is

_______

100% of 48 is

______

50% of 48 is

______

25% of 48 is

______

12.5% of 48 is

______

1% of 3700 is

______

10% of 3700 is

______

25%of 3700 is

______

50% of 3700 is

_______

100% of 3700 is

______

200% of 3700 is

_______

300% of 3700 is

______

10% of 120 is

______

5%ofl20is

_____

2.5%ofl2ois_____

1.25%ofl20is

______

1988 by ey Curflculum Proa, nc.
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5 is

_______

of 500.

50is

_
_
_
_
_
_

of 500.

125 is

_
_
_
_
_
_

of 500.
250 is

_______

of 500.
500 is 100% of 500.

1000 is

_______

of 500.

1500 is

_
_
_
_
_
_

of 500.

$4 is

_______

of $400.

$40 is

_______

of $400.
$100 is

_
_
_
_
_
_

of $400.
$200 is

_______

of $400.
$400 is

_______

of $400.

$800 is

_______

of $400.

$1200 is

_
_
_
_
_

of $400.

Ois

_
_
_
_
_
_

of 120.

3Ois

_
_
_
_
_
_

of 120.

6Ois

_
_
_
_
_
_

of 120.

9Ois

_
_
_
_
_
_

ofl2O.

l2Ois

_
_
_
_
_
_

of 120.

l000is

_
_
_
_
_
_

of 1000.

lOOis

_
_
_
_
_
_

of 1000.

200 is

_______

of 1000.

300 is

_
_
_
_
_
_

of 1000.

400 is

_______

of 1000.

$96 is

_______

of $96.

$48 is

_______

of $96.
$24 is

_
_
_
_
_
_

of $96.
$72 is

_
_
_
_
_
_

of $96.
$Ois

_
_
_
_
_
_

of $96.

$15 is

_
_
_
_
_
_

of $150. $7is

_
_
_
_
_
_

of $70.
$30 is

_______

of $150. $14 is

_______

of $70.
$45 is

_______

of $150. $21 is

_______

of $70.
$60 is

_
_
_
_
_
_

of $150. $28s

_
_
_
_
_
_

of $70.
$75 is

_______

of $150. $35 is

_______

of $70.
$90 is

_
_
_
_
_
_

of $150.

$105 is

_______

of $150. $5 is

_______

of $50.
$120 is

_______

of $150. $10 is

_______

of $50.$135 is

_______

of $150. $20 is

_______

of $50.$150 is

_______

of $150. $40 is

_______

of $50.$165 is

_______

of $150. $80 is

_______

of $50.vhat percent of the prob’ems on this page do you think you did correctly?

_______

1988 by Ky Curriculum Proje, nc.not dupllcat Without pernilaslon.



Pat took the test below. Put C by each problem Pat did correctly and X by each
answer that is wrong. Don’t write anything by the problems that Pat did not do.

Pa+

Percen+ Quiz.

I. 100Y0 of 53 53 C II. 10% of 1500 is____

_ç 2. 0% of 53 is .L. X 12. IY of 200 is_.

3. 50% of 128 is il. 13. 1% of 1500 is —

Lf• 5O% of 420 is 1O. ILf. 1% of 300 is I.
5. 50% of 1f8cm 24cm 15. 2% of 300 isj..

6. 50% of 21 is . 16. 3% of 300 is_.

7. 25% of 32 s 1.. 17. 6% of 300 iS .IL..
8._25%of1fis.LE. 18._12is..Q..%_aFb.

U
. 25% of q65.a. II. 12 j 100 % of 12.

10. 10%_oF_200_is .Q.. 20._12_is_2%_of_2.

There are five mistakes on Pat’s paper.

_______

ercen+ of 2]
What percent of the problems on the test did Pat do wrong?

______

How many of the problems did Pat not do?

______

What percent of the problems on the test did Pat not do?

______

What percent of the problems on the test did Pat do correctly?

______

How would you rate Pat’s work? E1 Poor D Fair D Good D Excelleht
3 6 @t98 by Key Curdcuium
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know how to find these percents of some numbers:
1% 10% 25% 50% 100% 200% 300%

can use these familiar percents to figure out other percents.

____%

= 25% + 1%

____%

= 50% — 10%

____%=10%+10%+1%

— %=50%—1%--1%

____%=25%—

1%—1%

____%=100%—10%+1%

24%=

________________

51%=

________________

75%=

________________

35%=

_________________

9%=

__________________

299%=

________________

The first and second problems in each group are easy. You can find the answers tàthe two harder problems by adding or subtracting the first two answers.

‘) j/ 25% of 200 is 50
,/ 1%of200is 2.

24% of 200 is 26% of 200

::: :\
35% of 160 is

,,/ 100%of2lOis

10% of 210 is

0% of 210 is 110% of 210 is--.

igaa by Key Curriculum Project, Inc.to not duphcate without perrnlssbrr.

\\ 50%of600is
4\

1%of600is

s 52’j (51% of 600 is
.

49% of

/oof36i
/of3s

10% of 400 is

____

\4\

jr//f
1%of400is

____

j 11%of 400 is

____

—

I
9%of 400 isJ

You

You

____

15% of 160 is
1

1175% of 36 is 225% of

____
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10% of 500 is

____

1% of 500 is

____

[11 % of 500 is 9% of 500 is

200% of 60 is

of 60 is

/ 100% of 40 is

____

.1 0% of 40 is

____

4Ois

___

110%of4O

___

100% of 36 is

____

25% of 36 is

____

I
125%of.

cIo% of 800 is
Lof8!0 &s—.

11 % of 800 is

is
of’ 300 is:E.

24% of 300 is

r- %1’
(%jis.

9% of 700 is

100% of 30 is

___

10% of 30 is

___

90% of 30 is

______

1hof2f

__

cçLof2tf isj
150% of 24 is

%ofLfOs
fZ%ofL1o.c.

225% of 40 is

26% of 200 is

_______

24% of 200 is 24% of 800 is

210% of 40 is 190% of 401s 175% of 40 is

35% of 80 is 15% of 80 is 15% of 20 is

301% of 700 is 299% of 700 is 290% of 700 is

[190% of 60 is 210% of 60 is f f 75% of 36 is

38 98a by (ey Curr’aJ’urn PioeCt. inc.
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Estimating Percents

Je a number in the box to name the shaded part of each circle.

23% 5% 75% 33% 95% 2 12

550%

Match a number in the box with each approximate amount.

9% 26% 52% 47% 199% 105%

) a little a little a little a little a little a little
more than more than less than less than more than less than

one quarter one half one half one tenth all double

Shade part of each circle. Use a straightedge so that your work will be neat.Shade
about
50%.

Shade
about
25%.

Shade
about
60%.

Shade
about
75%.

Shade
about
70%.

Shade
about
10%.

Shade
about
80%.

Shade
about
oI
) 10.

88 by Key CurrcuIum ProJei, Inc.not duplicate without peimisalan.
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Llo% go1
125% 75%
40% 60%
50% 50%

10% 90%
25% 75%
40% 60%
50% 50%

Divide each circle below to show the percents given. Write the percents on your
pieces of pie. You’ll have to estimate to decide how big to make each piece.

[j 50% I L 40% 60%] I 80% 20% I I 50%40% 1 o°,J

In the year 2000, it is estimated that
6,121,000,000 people will live on earth.

Make a pie chart to show the information
below. Label each piece of pie with the
name of a continent and a percent. The
size of each should match its percent.

About 60% will live in Asia.

About 15% will live in Africa.

About 11 % will live in Europe.

About 9% will live in South America.

About 5% will live in North America.

World Population

Which set of percents best fits the pie chart? Write the percents on the pie pieces.

10% 90%
25% 75%
40% 60%
50% 50%

10% 20% 70%
20% 30% 50%
?% 25% 50%
:30%30% 40%

10% 20% 70%
20% 30% 50%
25% 25% 50% -

30% 30% 40%

40 © 988 by ey Crclurn Poe, r,c.
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Circle the percent that best answers the question.

About what
percent of
the square
is shaded?

About what
percent of
the dots
are circled?

About what
percent of
the circle
is shaded?

About what
percent of
the cup
is filled?

About what
percent of
the square
is shaded?

About what
percent of
the dots
are circled?

About what
percent of
the wall
is painted?

25% 50% 75%

10% 25% 50%

About what
percent of
the square
is shaded?

About what
percent of
a cup
is filled?

About what
percent of
the rug
is stained?

1% 10% 25%

About what
percent of
one square
is shaded?

75% 100% 125%

About what
percent of
one square
s shaded?

75% 1CO% 125%

25% 50% 75% 25% 50% 75% 25% 50% 75%

10% 25% 50% 1% 10% 25%

About what
‘ercentof

fhe square
is shaded?

About what
percent of
the circle
is shaded?

25% 50% 75% 1% 10% 25%

25% 50% 75% 25% 50% 75%

88 ôy Key Currculuq Proect, nc.not dupcaie wthout per’nsson.
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Percent Is Based on 100

Pat plays on the school basketball team. In the first

game of the season, Pat made 3 out of 4 shots. In

the second game Pat made 4 out of 5 and in the third

7 out of 10. Pat wondered, “In which game did I shoot

the best?” How can Pat find out?

be easy to tell if Pat had tried the same number of

each game. Let’s pretend that Pat had continued

3 out of every 4, or 4 out of every 5, or 7 out of every 10 shots for 100 tries.

3 6 9 112115130145 1601751

4 8 12

You complete the tables below to find Pat’s shooting

Game 2 Shots made 4

Game 3

Shots tried 5 10 20 30 40 50 100

x’

Shots made 7

Shots tried 1 0 20 30 40 50 100

In which game did Pat shoot the best?

__________________

Complete the tables to find the shooting percents of three other players in Game 1.

Sandy Shots made

Terry

Chris

Shots tried 20J 60 80 100 — — — —

Shots made 6

Shots tried 10 20 30 40 50 100

Shots made 1 2

Shots tried 25 50 75 100

Who was the most accurate shooter, Sandy, Terry or Chris?

l3outof20is

___%.

6outofl0is

___%.

It would
shots in
to make

Game 1 Shots made

Shots tried 116120140160 18011001 3 out of 4 is 75%.

percent in Games 2 and 3.

4outof5is

___%.

7outoflois

___%.

13

12 out of 25 is 0/

42
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Complete the table to solve each problem below.
Jan got 12 out of 20 votes for class
president. What percent of the votes didJan get?

Votes for Jan 1 2

Total votes 20 40 60 80 100

l2outof20is

____%.

Jan got

_____%

of the votes.

Philip got 24 out of 30 problems correct onhis math test. What percent of the
problems did he get correct?

Problems correct 24
Problems on test 30 10 50 100

)24 out of 30 is

____%.

Philip got

_____%

of the problems correct.

Tanya got 18 hits in 40 times at bat playingsoftball last season. What was her battingaverage?

Hits 1181 I f I I
Timesatbat 14012011001

l8outof40is

____

Her batting average was

_____

The algebra class at Smalitown High Schoolhas 36 students. 30 is supposed to be theclass size limit. What percent of the size limitwas the algebra class?

StudentsrncassI36I I I I
36 compared to 30 is

______%.

There were

_______%

as many students inthe class as there were supposed to be.

Class size limit 13011015011001

Make up your own table to solve each problem below.
18 of 20 students in Ms. Serra’s Frenchclass came to class last Friday. Whatpercent of the class was present?

Present

In the class

Pat and Chris are digging a ditch that will be25 meters long. They have dug 7 meters.What percent of the ditch have they dug?

Meters dug

Meters of ditch

7outof25is

____%.

They have dug

_____%

of the ditch.

I

l8outof20is

____%.

_____%

of the class was present.

The Bay High girrs softball team has won Games won I I18 of their last 30 games. What percent of I 1their last 30 games have they wan? Games played
(8 out of 30 is They have won % of their last 30 games.
I 98 by Key Currtculum Pralec*. Inc.not duplicate Without pernilsson.
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Key to Percents Book 1 Name

Practice Test

Write each percent in three ways.

Date

What percent of each figure
is shaded?

_____%

is shaded.

_____%

is not shaded.

0% of 35 is

25% of 16 is

____

50% of 48

____

ICC% of 83 is

2s

____%of8.

As a fraction with
denominator 100

As a number with
percent notationUsincj words

25 out of every 100

5
100

100%

10 equal pieces

_____%

is shaded.

_____%

is not shaded.

_____%

is shaded.

_____%

is not shaded.

Put hair on 50% of the heads,

Put a nose on 25% of the heads.

Put a smile on 100% of the heads. 0 0 0 © 0 0

Fill in the missing percent.
Then answer the question.

Students at Cabot High School

25% of 1600 is

____

0% of 7643 is

_____

100% of 985 is

____

50% of 4444 is

_____

6is

____%ofl2.

4:4

What percent of
the students at
Cabot High are in
the 12th grade?

25% I
‘9S8 oy <ey Ci’cu1um Proect, rc
Do ‘ot dupicate wtIot pemisslOn.
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J.Practice Test Page 2

100% of 25 is

_
_
_
_

200% of 25 is

_____

300% of 25 is

_____

Circle the percent that best names
the part that is shaded.

_
_
_
_

1% of 900 is

_
_
_
_

____

2%of900is____

_
_
_
_

3% of 900

_
_
_
_

A dime plus a nickel is

_____%

of a dollar.

1 centimeter is

______%

of a meter.

50 centimeters is

_____%

of a meter.

One decade is

_____%

of a century.

10% of one hour is minutes.

25% of 40 is

_____

of4OZ.

35% of 40 is

_
_
_
_

Complete the table to answer thequestion.

Aran got 32 out of 40 problems correct on hismath test. What percent did he get correct?
Problems correctf3 2 jJ I ...JProblems on test 40

32 out of 40 is

_____

%.
Aran got

_____%

of the problems correct.

10% of 600 is

_
_
_
_

20% of 600 is

_
_
_
_

30% of 600 is

_____

Complete the sales receipt. One quarter is

_____%

of a dollar.
Buena Sports

Item Price
I Sweo+shir+ 2 95
I Rir Sneakirs 2Ct 95

Subtotal
lOax

Total

10% 25% 50% 25% 50% 75%

38 by i<ey CurrIculum Prolect. nc.01 duplIcate without permisaon.
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